N of reco track vs hit N of associated (recoToSim) tracks vs hit N of associated (recoToSim) duplicate tracks vs hit

10

=
N

=
T

0 5 10 15 20 25 30 35 40 0 10 15 20 25 30 35 40

—— DQM_TT__mkFit-DQM_original
[Nofresowackvsy —— DQM_TT__mkFit-DQM_modified3

[N of reco track vs pixellayer ] N of associated (recoToSim) tracks vs pixellayer N of associated (recoToSim) duplicate tracks vs pixellayer

N of associated (recoToSim) duplicate tracks vs 3D layer

0 2 4 6 8 1012 14 16 18 20 0 10 12 14 16 18 20

s
[N| SR
NS
ol
o}

4 6 8 10 12 14 16 18 20



	Contents
	Page 1


